
42A003 (TCF)(12-2024) 

2025 KENTUCKY WITHHOLDING TAX FORMULA 
 

2025 Kentucky Standard Deduction: $3,270 

2025 Kentucky Tax Rate: 4% of taxable income Formula: 

 
Wages for the pay period multiplied by the number of annual pay periods equals annual wages. Annual wages 
minus the Kentucky standard deduction equals annual Kentucky wages. Compute tax on wages using the 
4% Kentucky flat tax rate to determine gross annual Kentucky tax. Divide the gross annual Kentucky tax by 
the number of annual pay periods to determine the Kentucky withholding tax for the pay period. 

 
2025 Examples: 

 
Payroll Frequency: monthly 
Wages: $3,020 
1. Compute annual wages: $3,020 x 12 = $36,240 
2. Compute Kentucky taxable wages: $36,240 - $3,270 = $32,970  
3. Compute gross annual Kentucky tax: $32,970 x 4% flat tax rate = $1,318.80 
4. Compute Kentucky withholding tax for tax period: $1,318.80 ÷ 12 = 109.90 (monthly withholding) 

 
Payroll Frequency: bi-weekly 
Wages: $1,500 
1. Compute annual wages: $1,500 x 26 = $39,000 
2. Compute Kentucky taxable wages: $39,000 - $3,270 = $35,730 
3. Compute gross annual Kentucky tax: $35,730 x 4% flat tax rate = $1,429.20 
4. Compute Kentucky withholding tax for tax period: $1,429.20 ÷ 26 = $54.97 (bi-weekly withholding) 

 
 
NOTE: The Department of Revenue annually adjusts the standard deduction in accordance with KRS 
141.081(2)(a). Employers that use the formula to compute the amount of withholding may use the standard 
deduction for the current year. 
 
NOTE: If you receive more than one W-2 annually, you may need to withhold an extra $130.80. The 
standard deduction is factored into the calculation of Kentucky withholding but you will only receive this 
deduction once. 
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